TURN SIGNAL RELOCATION for Harley Davidson “FXST”
Models: FXST (96 to 2001)
For Use With
EASY BRACKETS tm
Quick Detach Saddlebag Brackets Model ST-R1, ST-R1HB or ST-R1DB (purchased separately)
Model ST-L1, ST-L1HB or ST-L1DB (purchased separately)

Applications
Harley Davidson FXST - Model TSFXST-01

Before you begin, read these instructions and check to be sure all parts are accounted for.

Part Description
Relocation Bracket

5/16” Hex Head Bolt
5/16” Flat Washers
5/16” Lock Washer

Y4 SS Button Head Bolt
Y. Flat Washers

Y4 Nylock Nut

AN
>3

Installation Instructions
Note: It is highly recommended a licensed technician be consulted prior to beginning installation of the
turn signal relocation Kit.

1. Remove the turn signals from the motorcycle. If the turn signals are mounted to the motorcycle with a single post standoff, a wing
style standoff will need to be purchased. HD part number 68480-93 ( It is highly recommended a licensed technician be consulted
regarding your year motorcycle before beginning removal of the turn signals)

2. Install the relocation brackets and the license plate and frame to the license plate mount using the %4 SSBH bolts, flat washers and
nylock nuts. If not already done, the top holes in the plastic license plate mount will need to be drilled. The brackets are located on
the outside of the plastic license plate mount and under the license plate and frame. See illustration

3. Install the turn signals to the relocation brackets using the 5/16” hex head bolts, (2) flat washers and (1) lock washer each. See
Illustration. The wires will be routed through the front hole of the brackets. Reconnect the wires to the motorcycle. The wires must
be properly secured under the fender to avoid any contact with the wheel.

You are now ready to install your EASY BRACKETS.

Notice to Consumer

Neither the manufacturer nor the distributor or retailer of the EASY BRACKETS makes any express warranties of any kind with respect to the EASY
BRACKETS. Any implied warranty does not cover defects caused by modification or alterations of the EASY BRACKETS or caused by physical abuse
to or misuse of the EASY BRACKETS or its use and/or operation in a manner contrary to the accompanying instructions. Failure to install and/or use
the EASY BRACKETS in the manner described by the accompanying instructions shall render all warranties, expressed and/or implied, void and release
the manufacturer, distributor and retailer from any and all liability arising from the use of the EASY BRACKETS.

For product support, damaged or missing parts, please contact Great Bike Gear at 866-521-3024
Do not return product without prior authorization.



